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Silhouettes

There are two similar challenges for this puzzle.

The first challenge is to superimpose some number of octagonal shapes
with the silhouettes in them into one pile so that the silhouette of a rabbit
appears. The shape of the resulted silhouette is shown as the Red rabbit
in the upper left corner of the scene.

The second challenge is almost the same as the first one, except that
there is some other number of the octagonal shapes which has to be
employed and the resulted silhouette should be as that one indicated by

the Green rabbit.
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Silhouettes (solution)

The solutions are shown in the illustration.

November 9, 2004 www.puzzles.com

Copyright © 2004 ThinkFun Inc. All Rights Reserved. webmaster@ ThinkFun.com
Permission is granted for personal use only. This puzzle may not be duplicated for personal profit.

2



D gRuzzleRIAYGROUD g
e PRINT PLAY VERSION

Treasure of Classic Put_TOgether PUZZIGS _ MC

and Modern Puzzles

QO

Silhouettes (pieces)

To produce the pieces first print them out. Then follow the diagram
shown in the left column above - from step 1 to step F (finish).
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